
Labyrinth
The clues above the lines tell you how many consecutive segments of line are to be 
marked as hedges in each row and column. There is a gap of at least one segment 
between adjacent hedges on a line. When the labyrinth is complete, find your way 
through, from the start to the finish, passing once through each cell on the way.

This puzzle may be printed or copied solely for personal use. © Puzzler Media, 2011 
This puzzle may not be reproduced in any other form without the written consent of the publishers. 
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